Installation Guide

Static Roof Panel Kit
for Aisle Containment System

Models: SRCTMTCVR600, SRCTMTCVR750

SRCTMTCVR600
Width: 24” (600 mm)

SRCTMTCVR750
Width 30" (750 mm)

Espanol 5 ¢ Francais 9 * Pycckun 13

Recommended Installation Order:
1. SRCTMTFRM Frame Kit

2. SRCTMTTLBM Beam Kit

3. SRCTMTSDD Sliding Double-Door Kit

4. SRCTMTCVR600, SRCTMTCVR750 Static Roof Panel Kit
5. SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL Adapter Riser Panels

LME’PQTE ;f

u<) 5

TARS
acturi

xcellence

ng

E

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2019 Tripp Lite. All rights reserved.



Important Safety Instructions

* This product should only be installed by someone of good mechanical ability, with basic building experience and a full
understanding of the instructions in this guide.

¢ Always use an assistant or mechanical lifting equipment to safely lift and position equipment.

* This product is intended for indoor use only. Install in a controlled indoor environment. Do not install outdoors or in harsh
environments.

Roof Panel
(x1)

% %

Magnetic M6 x 12 M6 Magnetic Filler Panel M4 x 10
Filler Panel Self-Tapping Screw Washer Handle Screw
(x2) (x4) (x4) (x4) (x8)



Installation

Before proceeding with installation, make sure the SRCTMTFRM Frame Kit, SRCTMTTLBM
Beam Kit, SRCTMTSDD Sliding Double-Door Kit and SRCTMTRXXX Adapter Riser Panels
(if necessary) have been properly assembled.

Refer to the products’ Installation Guides for more information.

a With the help of an assistant, place the static roof panels onto the top of the containment
frame’s upper support beams.

Secure the panel to the beam using the included screws.
Repeat for each additional panel.

M6 x 12
Note: Leave screws loose and do not tighten until all panels are installed. Self-Tapping

Screw (x4) \?
|
M6 Washer

4,




Installation

B Attach handles to included
maghnetic filler panels.

» M4 x 10
/‘ Screw (x4)

n Use the included magnetic filler panels to fill the
open space between the rack enclosure cabinet and

the containment frame’s upper support beam.

 Attach the filler panel’s magnetic side to the support beam and slide down to provide
an air seal against top of rack enclosure cabinet.

TRIPP-LITE 5

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

19-04-415 93-388D_RevA

4



Guia de Instalacion

Juego de Panel de Techo Estatico para

Sistema de Contencion para Pasillo
Modelos: SRCTMTCVR600, SRCTMTCVR750

SRCTMTCVR600
Ancho: 600 mm [24"]

SRCTMTCVR750
Ancho 750 mm [30'"]

English 1 * Francais 9 * Pycckun 13

Orden Recomendado de Instalacion:

1. Juego de Bastidor SRCTMTFRM

. Juego de Viga SRCTMTTLBM

. Juego de Puerta Deslizante Doble SRCTMTSDD

. Juego de Panel Estatico de Techo SRCTMTCVR600, SRCTMTCVR750

. Paneles Elevadores con Adaptador SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL

LME’P@TE

Manufactura.

o~ WN

1111 W. 35th Street, Chicago, IL 60609 EE. UU. * tripplite.com/support
Copyright © 2019 Tripp Lite. Todos los derechos reservados.

5



Instrucciones de Seguridad Importantes

e Este producto debe ser instalado Unicamente por una persona con habilidades mecanicas adecuadas, experiencia basica de
construccion y que haya comprendido a cabalidad las instrucciones contenidas en esta guia.

* Utilice siempre un ayudante o equipo de elevacién mecanico para levantar y colocar el equipo con seguridad.

e Este producto se disend para ser usado solo en interiores. Instale en un ambiente interior controlado. No lo instale en
ambientes exteriores o0 exigentes.

Lista de Partes

Panel de Techo
(x1)

% %

Panel de Relleno Tornillo Arandela Manija de Panel de Tornillo
Magnético Autorroscante M6 Relleno Magnético M4 x 10
(x2) M6 x 12 (x4) (x4) (x8)
(x4)



Instalacion

Antes de continuar con la instalacion, asegurese de que el juego de bastidor SRCTMTFRM,
el juego de viga SRCTMTTLBM, el juego de puerta deslizante doble SRCTMTSDD y los
paneles elevadores con adaptador SRCTMTRXXX (si fueran necesarios) se han
ensamblado correctamente.

Para mas informacion, refiérase a las Guias de Instalacién del producto.

a Con la ayuda de un asistente, coloque los paneles de techo estaticos en la parte superior
de las vigas de soporte superiores del bastidor de contencion.

Fije el panel a la viga usando los tornillos incluidos.
Repita para cada panel adicional.

Nota: Deje los tornillos flojos y no los apriete hasta que todos los paneles Tornillo

estén instalados. Autorroscante
V6 X 12 (xd) ¥
I

Arandela M6




Instalacion

B Coloque las manijas a
los paneles de relleno
magnético incluidos.

_#® Tornillo M4 x
T 9?10 (x4)

n Utilice los paneles de relleno magnéticos incluidos para llenar el
espacio abierto entre el gabinete de rack y la viga de soporte superior
del bastidor de contencion.

* Fije el lado magnético del panel de relleno a la viga de soporte y deslice hacia abajo para proporcionar
un sello de aire contra la parte superior del gabinete de rack.

R
RE

LME’P@TE

Manufactura.

1111 W. 35th Street, Chicago, IL 60609 EE. UU. * tripplite.com/support

19-04-415 93-388D_RevA

8



Guide d'installation

Ensemble de panneau de toit statique

pour systeme d’enceinte pour alléee
Modeles : SRCTMTCVR600, SRCTMTCVR750

SRCTMTCVR600
Largeur : 600 mm (24 po)

SRCTMTCVR750
Largeur 750 mm (30 po)

English 1 * Espanol 5 * Pycckun 13

Ordre d'installation recommandé :

1. Ensemble de cadre SRCTMTFRM

Ensemble de montant SRCTMTTLBM

Ensemble de porte double coulissante SRCTMTSDD

Ensemble de panneau de toit statique SRCTMTCVR600, SRCTMTCVR750

Panneaux de base pour adaptateurs SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL

TRIPPLITE

Industrielle

o AW N

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Droits d'auteur © 2019 Tripp Lite. Tous droits réservés.

9



Consignes de sécurité importantes

¢ Ce produit ne devrait étre installé que par une personne ayant de bonnes aptitudes en mécanique et une expérience de
base en construction de méme qu'une pleine connaissance des instructions du présent manuel.

* Toujours faire appel a un assistant ou utiliser de I'équipement de levage mécanique pour soulever et mettre en place
['équipement.

¢ Ce produit est prévu pour étre utilisé a l'intérieur uniquement. Installer dans un environnement intérieur controlé. Ne pas
installer a l'extérieur ou dans des environnements difficiles.

Liste des pieces

Panneau de toit
(x1)

AE %

Panneau de Vis autotaraudeuse Rondelle Poignée de panneau Vis

remplissage M6 x 12 M6 de remplissage M4 x 10

magnétique (x4) (x4) magnétique (x8)
(x2) (x4)

10



Installation

Avant de procéder a l'installation, s'assurer que I'ensemble de cadre SRCTMTFRM,
I'ensemble de montant SRCTMTTLBM, I'ensemble de porte double coulissante SRCTMTSDD
et les panneaux de base pour adaptateur SRCTMTRXXX (le cas échéant) ont été
correctement assemblés.

Consulter les guides d'installation des produits pour plus d'informations.

a Avec l'aide d'un assistant, placer les panneaux de toit statiques sur le dessus des montants
de support supérieurs du cadre de I'enceinte.

Fixer le panneau au montant en utilisant les vis incluses.
Répéter pour chaque panneau supplémentaire.

Vis
autotaraudeuse
M6 x 12 (x4)—-‘?

Remarque : Laisser les vis desserrées et ne les serrer qu'une fois tous
les panneaux installés.

Rondelle M6

///

v/

\ «\_ /7
\\V
V4

A
/
Vi
/
Vi
/
/[

11



Installation

B Fixer les poignées aux
panneaux de remplissage
magnétiques inclus.

_#® Vis M4 x 10
_® (x4

n Utiliser les panneaux de remplissage magnétiques inclus pour combler
I'espace vide entre I'armoire pour boitiers pour bati et le montant
de support du cadre de I'enceinte.

* Fixer le c6té magnétique du panneau de remplissage au montant de support, puis le glisser vers le bas pour
permettre un joint d'étanchéité a l'air contre la partie supérieure de l'armoire pour boitiers pour bati.

R
RE

Industrielle

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

19-04-415 93-388D_RevA

12



PyKkoBoACTBO N0 YyCTaHOBKe

HenoaBuHasn BEepPXHAA NMNaHelb B KOMIJIeKTe

Ana cucrémMbl 3alliUTbl NPOXo40B
Mopenu: SRCTMTCVR600, SRCTMTCVR750

SRCTMTCVR600
LnpuHa: 600 mm

SRCTMTCVR750
LWnpuHa: 750 mm

English 1« Espaiiol 5 - Francais 9

PeKOMeHAVEMbII‘/'I nopAaaoK yCtTaHOBKU:
1. Kopnyc B komnnekte SRCTMTFRM
. banka B komnnexte SRCTMTTLBM

Pa3gBwHas ABycTBOpyaTan agepua B komniekte SRCTMTSDD
HenopBwmxHan BepxHAsA naHenb B komnnekte SRCTMTCVR600, SRCTMTCVR750
[epexopHble BepTukanbHble nanenu SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL

[ I O I )

aaaaaaaa

1111 W. 35th Street, Chicago, IL 60609 USA « tripplite.com/support

OxpaHsetca aBTopckum npaom © 2019 Tripp Lite. Mepeneuatka 3anpeLyaetca.

13



BakHble yKa3aHuA No TexHnKe 6e30nacHOCTH

+ YcTaHoBKa ;aHHOTO U3enna JoMKHa npou3BOANTLCA TONbKO CneLnanncTom ¢ J0CTaTOYHOI TeXHUYECKOIA KBaJ'IM¢VIKauVIEl7I 11 6230BbIMY HaBblKami CTpouTeNbCTBa, B
MOJHON Mepe NOHUMaLLM CMbICH MH¢0pMaL|,MVI, 13N10KeHHOI B HACTOALLEM PYKOBOACTBE.

« [Ina 6e3onacHoro noAbema It Haanexallero pa3meLleHna 060pWJ,OBaHI/Iﬂ 0693aTeNbHO oﬁpamaﬁTer 3a NOMOLLbIO 1NN I'IOJ'Ib3)II7ITECb Tpy30noAbeMHbIM 060py‘ﬂ0BaHl/IeM.

- [laHHoe u3enue npeaHasHa4yeHo AnA NCnoJjib30BaHNA TONbKO B 3aKPbITbIX MOMELLEHUAX. YcTaHaBnuBath B 3aKpbITOM MOMELLEHNI C KOHTPONUPYEMbIMI NapaMeTPamu
Opr)KaK)LLleVI Cpeabl. He YCTaHABJINBATb HA OTKPbITOM BO3JYyXE N B HeﬁﬂarOI’IleﬂTHle yCnoBuAXx.

BepxHas naHenb
(Twr)

MarxutHasa (Camopes Llaii6a Pyuka marHuTHoli naHenu- Bunt
nawesib-3armyLuKa M6 x 12 Mé 3arnyLuKku M4x10
(2wr) (4wr.) (4wr.) (4wr.) (8wr.)

14



YcTaHOBKa

n lMepen Hauanom ycraHoBKM Heo6xoanMMo y6eauTbCA B npaBunbHocT c6opku kopnyca SRCTMTFRM, 6ankn SRCTMTTLBM,
pa3aBsuxHoON ABycTBOpYaToii ABepubl SRCTMTSDD 1 nepexoaHbIX BepTUKanbHbix naHeneit SRCTMTRXXX
(npwm HeoOXoauMOCTH).

Bonee noapo6Has MHGOpMaLYA NPpeCTaBNEHa B PYKOBOACTBAX N0 YCTAHOBKE COOTBETCTBYIOLMX U3AENMIA.

a 06paTMBIUM(b 3a nomMoulbio, nomecTuTe HenoABUXHbIE BepXHUE NaHe/In Ha BepXHUe onopHble 6anku 3alWmuTHOrO Kopnyca.

lpukpenuTe naHenb k 6anke Npu NOMOLLY BUHTOB, HAXOAALLMXCA B KOMMAEKTE.
[ToBTOpUTE 3TN AEIICTBUA ANA KAXKA0II JONONHUTENbHON NaHeNw.

anMG‘IaHME. He 3aTAruBaiite BUHTbI 0 TeX nop, noka He 6y,uyT YCTaHOBNEHbI BCE NaHeNn.

Camope3 M6 x 12
(4 wr.)
Y

LWaii6a M6

Y

15



YcTaHOBKa

n MpukpenuTe pyuKkn K MarHUTHbIM
naHenAM-3arnyLKam, BXOAALMM B
KOMIEKT.

» Bunt M4x 10
(4 wr.)

[inA 3anonHeHns (80604HOr0 NPOCTPAHCTBA MeXAY KOPMYCOM LKada U BepXHeil ONopHoi
6anKoii 3alUTHOro KOpMyca CnepAyeT UCNONb30BaTb MarHUTHbIE NaHeN-3arnyLWKK,
BXOAALYME B KOMIVIEKT.

. anIerI'IVITe NaHeNb-3arnyLwKy HamarHu4eHHo CTOp0HOI7I K 0I'IOpHOI7I banke u CABWHbTE €€ BHU3 AnA obecneyenua
BO3JyXOHENPOHUL,AEMOTO YNI0THEHUA B BerHeI?I YacTn Kopnyca LlJKa(ba.

R
RE

aaaaaaaa

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA « tripplite.com/support

19-04-415 93-388D_RevA

16



